
Spacers, parts D/E/F, are used
to allow screw B to tighten screen
to bracket.  

90

A. 1 pc

Max Load:   8 Kgs

Part List:

C. M5x16  2 pcs

D. 4 pcs

E. 4 pcs

F. 4 pcs

G. 1 pc

H. 1 pc

B. M4x10  4 pcs

Screws supplied 
with stand.

or 1. 2.

1.

Lift bracket off post to best
access screw head under
nut.

H

Adjust 
torque...if
necessary

3.

Spacers, parts D/E/F, are used
to allow screw B to tighten screen
to bracket.  

90

A. 1 pc

Max Load:   8 Kgs Part List:

C. M5x16  2 pcs

D. 4 pcs

E. 4 pcs

F. 4 pcs

G. 1 pc

H. 1 pc

B. M4x10  4 pcs

Screws supplied 
with stand.

or 1. 2.

1.

Lift bracket off post to best
access screw head under
nut.

H

Adjust 
torque...if
necessary

3.

If you have any questions regarding our products, 
please visit us at displays2go.com or call 

844-221-3388.

Scan QR code to visit 
product page

Desktop iPad Mount 
IPAD135BLG


